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3) 0.3 mole of bromine gas 4) 267 moles of dialuminum tricxdde
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5) What 15 the percent by mass of water 1n calcum sulfate pentahy drate?
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6) A 334 g sample of Sr3205xHoO contains 2.3 g of anhydrous 55505, Calculate x.
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8) Lithium nitride reacts with water to form ammeonia and lithium hydroxide. If 3.92 g of lithi
nitride reacts with 4.7 g of water, how many grams of ammonia will be created?
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F. Short Answer Dafinifions

a) What 1s a mole? How would you describe the concept toa 10 year old?

b) What is a hydrate? What type of compounds are they specific to? Do you have to
consider the molar mass of the water in your stoiciometric calculations? Does the
water participate in the reaction?

c) What is the limiting reagent? How does the limiting reagent affect the reaction?

d) What Is the percent yield? s it possible to have a percent yield over 100%7? What
would this mean”?



Mr. Caslick Mobile Alerts for your cell phone ...
TEXT:

subscribe sch3u

to 1-704-323-7775

Note: Text message rates will apply (although T don't think it costs

28g< o A LU

money to receive a text???)



